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This is the rule — BB Tt

OVERVIEW

The 71wn teaches that if one forgets a bundle in front of him it is not Ar>w,
but if he forgets the bundle behind him it is 7mow." The mwn concludes; ‘if
he will transgress 21wn 22 (by returning to retrieve the bundle) it is nrow; if
he does not transgress 27wn 92 (he need not return in order to retrieve the
bundle), it is not 7n5w’. The question Md0IN addresses i1s why the need for
the mwn to add 5737 11, etc.

mooIN explains the mwn added 5957 11, etc. -
15 1997 IINNY

to include a corner-point.’

SUMMARY
If one missed the corner going forward (so that the corner is behind him), it
18 7MoW.

THINKING IT OVER

Why was it necessary for mo0In to say N1 172 XY, he could have just said
AW NN nRY; that if he skipped the beginning of a row, it is anow.’
Why was it necessary to mention that he skipped the bundle in the corner?!*
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Each * represents a bundle

" In the grid above assume he started picking up 1% and 3x skipping 2x (going from left to right), he then
picked 4 and skipped to 12 (omitting 5X). The rule is that &2 is 712 since it is behind him when he
continued to 3R and 4X; however 5X is not 712w for it was never behind him. We assume he will collect 5%
when he harvests in a different row from bottom to top; 57 to 58 (or top to bottom).

% If he started from 2x and continued to 5x, then 1x is considered 7mOWw since it is behind him (when he is
harvesting 2X-5X. We do not say that intends to harvest 1X in a new row from 17 to 1&. The important factor
is if at a certain point he would have to be 1nnp? 2wn then it is 7now; when he was going from 2xX to 5X he
would have to turn back to harvest 1x.

? If he began 22 towards 32 and skipped 12 it is 7now. Why concentrate on 1X.

* See n"m1 and AYMW Pan.
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